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FACULTY OF COMMERCE

M.Com. (First Year) (First Semester) EXAMINATION

NOVEMBER/DECEMBER, 2023

MANAGERIAL ECONOMICS

(Monday, 11-12-2023) Time : 10.00 a.m. to 1.00 p.m.

Time—3 Hours Maximum Marks—75

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(i)

(ii)

1. Explain the law of variable proportions with the help of a diagram. 15

2. Explain demand analysis and the determinants of demand. 15

Explain the Indifference Curve Analysis.

3. What is Perfect Competition ? How is the price determined under perfect

competition in shortrun ? 15
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Critically discuss Schumpeter’s Theory of Profit.

4. Explain the Modern Theory of Wages in detail. 15

What is a Business Cycle ? What are the measures to mitigate the ill effects

of a Business Cycle ?

5. Write short notes on (any two) : 15

(1) Objectives of a Business Firm

(2) Types of Costs

(3) Price Leadership Model

(4) Concept of National Income.

LV—14—2023 2
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